EARAROBEEIERT — 2 N— IBISH —F

20185F4H218 (£) 2EFE=E1H

SOl T R3® KB [EE] B

‘ [R1%] & ‘ [REBE] — | & (%) 13000 B

[A~&£] 17 5,000,000  ~ 23 :2,000,000H 37 :1,300,000

/47 1750,000 F 5 7& 500,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— cLs 4 3 | FlEEX 1:19.8 1-1 37.7| 87.8 | 1 476 | AEE (EH#)
1 8| TATNETT 54.0 =) +2) FAPLANTST (#%)
L:wyVgddyk B:7AVXELT AR
I =4 4 3 | RE®REC 1:20.2 2-2 37.9| 842 | 3 464 | TRIRE (EH)
2l7l14 AU—3=7F> [B] 56.0 2 1/2) (-4) | KHEE #)
LA LR—L B XXHIFIN iHEEe)
; it 3 | ML 1:20.4 5-5 375085 | 5 474 | W95 (H)
31112 do/%/ g 56.0 (11/2) o) fEE—
L:a—-visr4o 147140 b &k EEAR
= o= - AIEEH : - KEHE— (E#)
FURF 4P ILR 3 Rl 1(.12/02.)5 4-3 38.0| 81.5 | 2 zzg;t Tl
L:O—RKApFO7 B:T7LF—% =is =L
i 4 3 | REES 1:20.7 5-5 37.9|79.8 | 4 446 | PEEZ (EH)
TA7 Gz Ib 56.0 (1 1/4) (-10) BBFFEHD (%)
L:N—RKZN> B:LEVXY LT — N L4505
S = U 4 3 | KHEEE 1:21.0 7-7 37.9| 77.1 | 12 | 448 |FESBN (EH)
/’7'}[/_/// 56.0 A 1/2) +2) H*hE
L:®>7OAvY BV TES ZY 42T 74— KiiS
. 4 3 | WEEE 1:21.4 7-7 38.4| 73.7 | 6 450 | /NE—B ()
Tr—2—1F> 56.0 21/2) (o) | FPIEEE
:23—bAOEY BiLAFLAF JIAML—Z Tt s~
S0 /5 [ 3 > 3 | BEETT 1:21.9 10-10  [38.2| 69.2 | 11 | 450 |HBHER (k)
85|10 /"]_}[/l:—V/ - 56.0 3) 42) ;t;ng
LY LTAN=F BT+ —HINX2— HiE  ERA
= . 3 | BEEA 1:22.0 13-12 |37.8| 68.2 | 16 | 420 |HEFEE ()
91| 1| VYT1T7v 7 # 54.0 (7€) (-4) ) AT 7k
L:Zv—bAEY B:JALA2KR— R Mk
5,8 4 3 | LHEES 1:22.0 1-11 38.0| 68.3 | 8 448 | ERISEE (3EH)
EH 6| P—tx>v—7 5.0 (7€) Lo | BllIEEE
L:bh—trAL>R B:RT1—NPv—7 BRE&#M IXT477—AL4
. SIS 43 | ABEFE 1:22.1 3-3 39.5| 68.0 | 10 | 450 |HZAERR (Ei#)
11l5| 9| BB 56.0 (1/2) (-a) PR3
L:vQ7x #&:NZO0-U>7 AEXERE
f 3 | SEERIE 1:22.6 79 |30.0| 63.7 | 14 | 478 |BEEEZ L)
Eam ISt 54.0 3 a) | EHERIE
RIART—WoF— B:I—-NTF> Shall Farm
1) A it 3 | RLR&A 1:22.6 16-16 | 37.6 | 62.9 | 13 | 464 |ZRBEE (X&)
13/8[16| 7V TV A > H L 0 () ) |EEEZ
RO—XFL T L BT A RN G~ IBE K
. 3 | AEHRIR 1:22.7 14-13  [38.1| 62.2 | 7 496 | EFEH (ER)
14 7 L—2T4—2X 56.0 (3/4) (-6) (#%) /~=>F1—H%5TJL v KR
L:T7RYfYL—> B:2Z/EHT Eld=tae)
3 4 3 | AR 1:23.1 12-13 | 38.6| 59.2 | 15 | 472 |XEFE—EB (E#)
151713 TEY v 56.0 (21/2) (-4) :NE%ZZ?}I
L:drp—=3U7> B.ICETIAFa— RIS
N N S R : - HEZR (E#)
161815l TATrTUT R it 3 s 1(/33; 14-15 | 38.3| 58.8 | 9 zzg;t R
RNZ—ka1—X B> T97x7TaA i —%
@ 71 L
) 50.0-37.7
NA>ZA L | 7.1-11.2-11.5-12.3-12.6-12.0-13.1
® I —F—@EBIERL
1T=7r=
20—7—
Gol=5r= 8,14,9,11(2,5) (3,4,12)-10,6,13,1(7,15) 16
40—+ — 8,14(9,11) (2,5) (3,4)-12,10-6,1-(7,13) 15,16
[ N3
BB 8 1504 714K 8-14 370M e E 4-7 820M JEHE 2-8-14 3,050/
8 B 8 110 2-8 470M B = 8-14 920M B 8-14-2 7,140
14 270M 2-14 1,850 | | BB B 8-14 1,070
2 290M

ABICOVWTRDTEEERROODE. TR LIV,




